ERorEE B & B 8

1 EERE 129,787,963,857H
N EKRBAE 105,609,355,468 [
BB E 24,178,608,389H
IG=Ti_f 2t 95,659,350,395M
I 1F R B 34,128,613,462H
1 BEARBAE 105,609,355,468
tih 926,876.49 m 22,126,118,995 M
BY 295.814.88 m 62,183,128,957 M
BEY 1,549,175,436 M
HEMEASRES 18419 & 12,824,068,801 M
EIEAKIRES 1,601 = 303,904,342 M
H= 411,414 8 4,449 655,284 [
ZDih 2,173,303,653 M
2 EREE 24,178,608,389 M
REESE 7,937,128,234 M
ZDith 16,241,480,155 [
= 129,787,963,857 M
Bi5%
1 BEaE 68,154,779,893 M
REEAE 50,600,570,000 M
Z Dk 17,554,209,893 M
2 RBAaE 27,504,570,502 M
EEHEAR 14,781,900,000
ZDith 12,722,670,502 M
8 1E % 5 95,659,350,395 M

IEOREARE ( BEREE - AEHRE) 34,128,613,462 M
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